REPLACEMENT PART DESCRIPTION FORM

MODEL #: A3000111

FACTORY USE ONLY!!

PART# DESCRIPTION USED ON: | MRP# MATERIAL QTY

"|PACK| P/M

Fabirc Content:
1 Back Cushion §F# A3000111 | R56440 100% Polyester 1 F M

Clean Code:WS
Fabirc Content:

2 [Seat Cushion J&# A3000111 | R56441 100% Polyester 1 F M
Clean Code:WS
3 Foam Pad ##p3 A3000111 | R56437 Foam 4 G P

5716 inxoomm Allen Bolt (5)
5/16 in Flat Washer (5)
5/16 in Lock Washer (5)

4 [Hardware Pack A& A3000111 | R56438 1/4 inx50mm Allen Bolt (6) 1 G P

1/4 in Flat Washer (6)

1/4 in Lock Washer (6)
Amm Allon \Wronch (1)

5 |[Leg Frame J##E A3000111 [ R56439 Metal 1 F P

SIGNATURE DESIGN BY ASHLEY® All Rights Reserved. March,2018 Page 1 Of 1



